Efficiency vs. dz (PV)

[_Efficiency (tracking eff factorized out) vs. dz (PV) ]

<$0.05 e L
o 5}
39.045 x
°© = I--

50.04 2

= U

3.035 =

: 3 0.8

[ =4

> 0.03] [}

z S

$.025 & 0.6
5 0.02 oa

0.015 :

0.0% 0.2

0.005F

OL_W:....i....i....i....i....i.... ° Y P T I PP P
B kS

o o

095 01 02 03 04 05 06 095 01 02 03 04 05 06
Cut on dz(PV) (cm) Cut on dz(PV) (cm)
—=— DQM_TT__original
—— DQM_TT__initOnlyFWDO_PU
[_Fake rat{ —— DQM_TT__initonlyFWD0_PU

03 04 05 0.6
Cut on dz(PV) (cm)

0.2

03 04 05 06
Cut on dz(PV) (cm)




	Contents
	Page 1


